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Questions

The "transaction or repayment"which sahib-e-Nisab Muslims pay once in a year at the given

rate to the poor and the needy is called:

The Sahib-e-Nisab muslim is liable to pay Zakat who owns and keeps in his/her possession

at least gold

Zakat is deducted at a rate of

The Sahib-e-Nisab Muslim is liable to pay Zakat who owns and keeps

in his/her possession at least silver:

On a crop which is irrigated by natural resources, ushr is paid a a rate of

On a crop which is irrigated by artificial resources, ushr is paid at a rate of

What is share of widow in the presence of a child or agnatic grand-child?

How much share a husband inherits out of his wife's property in case h is wife dies?

If there is only a single daughter then her share is

Which of the following is not included in exposed and unexposed wealth?

Shopkeepers is called

The price are of an article given in the list provided by the manufacturer to the trader is
called:

An association of two or more persons to carry on a business for the purpose of making

profit is called

The ratio of profit three partners A,B, and C is 10:7:5, the sum of their Ratio is

If shopkeeper sells a TV for Rs, 13,125 at a profit of 5%. Tel much profit did he earn?

Answers Choice

Ushr

Nisab

. Zakat

. inheritance

. 6.5 tola
7.5 tola
. 8 tola

. 8.5 tola

2.5%
3.5%
4.5%
5.5%

52.5 tola&nbsp;
55.5 tola&nbsp;
60.5 tola&nbsp;
62.5 tola&nbsp;

2.5%
5%

10%
20%

5%
10%
2.5%
25%

1/4
1/8
13
12

12
13
1/4
1/5

2/3
1/4
1/2
1/8

. agricultural goods
gold&nbsp;

. silver&nbsp;
wood&nbsp;
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. cost price (CP)

. Selling Price (SP)
. List price(LP)

. cash Price(CP)

. discount

. list price
marked price

. Discount % age

business
trading

. partnership
. company

15

20
22
25

Rs.600
Rs.625
Rs.650
Rs.700
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